Question Paper Preview

Question Paper Name: APICET 2017 shift2
Subject Name: AP ICET 2017
Analytics Ability
Display Number Panel: Yes
Group All Questions: No

Question Id : 8650043963 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (1to 20)
Data Sufficiency
OTPoT DUPRE

Note: In questions numbered 1 to 20. a question 15 followed by data in the form of two

statements labelled as I and II. You must decide whether the data given in the
statements are sufficient to answer the questions. Using the data make an
appropniate choice from (1) to (4) as per the following guidelines:

(a) Mark choice (1) if the statement I alone 1s sufficient to answer the
question.

(b) Mark choice (2) if the statement II alone is sufficient to answer the
question.

(c) Mark choice (3) 1f both the statements [ and II are sufficient to answer
the question but neither statement alone 1s not sufficient.

(d) Mark choice (4) if both the statements I and I together are not sufficient
to answer the question and additional data 1s requared.
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Sub questions



Question Number : 1 Question Id : 8650043964 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

What is the present population of the city C?
(o C alws), DS T2 dod?
I.  The population of the city in the year 2010 1s 24. 80.000.
2010 ‘.-bo;fze:b;}cioeﬁ‘ &5 (o AlVS) 2T 24, 80.000.

II. The population of the city grows every year.
& 6o 278 DO VodB\Go HO BoSVd.

Options:
1. 1

7, 2

.
4 4

Question Number : 2 Question Id : 8650043965 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Is the positive real number"a" rational?
BTHE TRD Doy 3 SEE30H0LT.

I.  The area of arectangle is "a" sq. units.
2,8 OGN0 PFTV[o 3 ©5.0TILD.

II. The area of the circle with radius 4 cm is a square centimeters.
4 2o. D a‘aﬂ"goé‘ﬁmaﬁl 53 dTVpe a ©5.20.8.

Options:
l. 1

e
-2

Question Number : 3 Question Id : 8650043966 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

If a. b. ¢ are negative integers and d 1s an integer. is d = 07

a, b, cev dnea:gjvg:aoa:igw e d 25 B'}_T’g ‘ri:oa% oS, d = 0 e9dhHdoo?
I. d=2a-b
0. da=c¢

Options:
l. 1



4 4
Question Number : 4 Question Id : 8650043967 Question Type: MCQ Display Question Number : Yes Single Line Question Option

: No Option Orientation : Vertical
If a. b. ¢ are real numbers.1sa>=b?
a,b,C TPRDVoD[AL VANES, @ > b ¥ YHBL"?
I a24+b+2=0
II. a>b-c
Options:
1

9, 2

5 3
4 4

Question Number : 5 Question Id : 8650043968 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Doesa+b=07
a+b =0 eNie?

I. ab<0
oI a’=b
Options:
1
7, 2
i, 2
4. 4

Question Number : 6 Question Id : 8650043969 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

In the sequence 1. a. b. ¢. 9 of real numbers. what 1s the value of ¢?
TRDRoP[en 1.2, b, ¢. 9 B0E), WE00S” ¢ AE); DeD Jod?

[.  The third term of the sequence is twice the first.

€5 BANSVo AWE), SITFED Do QL) DS Eego;‘{).
II. Second term of the sequence is 4.

€3 89 D500 cﬁ.us;_’ Oocisd Do 4.

Options:



3
-2

I
(aa

Question Number : 7 Question Id : 8650043970 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

What 1s the average of p. q. r and s?
P. . r S0BC3L s & MO0 Jodh?

L. ptgtr=s+é4

II. 4p+r+s)=128.q=16

Options:
l. 1

Question Number : 8 Question Id : 8650043971 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Is P the mother of Q7
Q ey, O P eopdoes-?
I.  Q is the daughter of P.
P aiws), Sa0°5 Q.
II. P is not the bother of Q’s paternal uncle.

Q a0, DEBog, / DABog, ML) TG P 5o,

Options:
l. 1

-3

~

L]

3
4 4

Question Number : 9 Question Id : 8650043972 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical



What 1s the mother’s age?
39 B, HOD Dod?

I. 15 years ago the mother was twice the age of her daughter five years ago.
15005800 Socsty &5 88, 5 DoDHSES0v Sod3e) 8320 SHAT0 HoRwS
8802 SaHiw SVB.

II.  Five years Later the mother’s age will be twice the age of her daughter.
5 RodS\GA0L S6T7S, &5 S HODLA B LA078 DAL BEho.

Options:
l. 1

9 2

5, 3
4 4

Question Number : 10 Question Id : 8650043973 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

What was the percentage of defective items produced in the factory?
es ﬁ"égﬁ e&5° HAIFGoRD S’ Eho DA DD dodd TS0 ?

L. The ratio of defective items to the non defective items was 25 : 625.
B0 $HADO HWHOD, e THY DD 206 50 DinS 25 : 625.

II.  The total number of defective items produced was 225.
B0 § S0P IRPL SAD Voad| 225.
Options:
1

7 2

3. 3
4 4

Question Number : 11 Question Id : 8650043974 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Will it be a Monday tomorrow?
82 V0T6o R ?
I.  Every Sunday is a holiday.
DS 3BT Co PDVD) BIID.
II. Today is not a Sunday.
&b eOIT G0 S,

Options:

1 ) ].



4 4

Question Number : 12 Question Id : 8650043975 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If a. b. ¢ are integers. is a + b + ¢ divisible by 3?
a.b.cen PR 29003, 3 a + b + ¢ arhodeichdooe?

L. a>b>c
II. a-b=b-c=2
Options:
1
7, 2
3, 3
4 4

Question Number : 13 Question Id : 8650043976 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

What 1s the length of the line segment AB on the straight line PQ?
PQ 26¥0ap Sarocian AB Ing) e Jodh?
I. AP=BQ=25cm.
AP=BQ =25 do.2b.
II. PQ=300cm.
PQ = 300 20.50.
Options:

7. 2

3, 3
4 4

Question Number : 14 Question Id : 8650043977 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

For real numbers a. b and c. what 1s the valueofa +b +¢?
3, b 2000300 € TP Vojws), a+b+c Alvs), QD Jod?

I. ac=16
II.  a.b.careina geometric progression.
a,b,c e 2% eBedes” DT oW,

Options:



Question Number : 15 Question Id : 8650043978 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Is ANC =07
ANC = 0 ea)Hedoots?

. ANB=0
II. BNC=0
Options:
1
2, 2
i, 3
4 4

Question Number : 16 Question Id : 8650043979 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Is the integer n divisible by 1207
1203 rgRo| N erHodecodvom?
I n=k{’- 1}{1{1 — 4) for some integer k.
DsanTe rgos| k & n= k(k? — DK —4).
II.  nis divisible by 4 and 30.
4 So0ciw 30 il n 2rHoDESVR
Options:
1

5 2

3, 3
4 4

Question Number : 17 Question Id : 8650043980 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

For real numbers a. band c. is (a —b)* = 07
TRD Roadjew a,b Hodakn ¢ v (a— b)" = 0 essdyyehoors?

. a<b
II. cisdivisible by 16
16 © € 20D



Options:

1

Question Number : 18 Question Id : 8650043981 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

For any real number x. the greatest integer not exceeding x is denoted by[x]. If [a] = 5
for some a. then what is [2a]?

DEONT TS Road| X 8, X & Dot (B8N Jrgowd [x] ¢ R:Jﬂt'.]g“;ﬁm. DOV 3
& [a] = 5 e, €93 Co [2a] Qoe$?

L a—[a]z%

(4 3 a 1s a rational number
a 2,8 £oc3o 20835

Options:

Iad
L]

Question Number : 19 Question Id : 8650043982 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

For a polynomial p(x). is x — 1 a factorof p (2x —1)?
28 006 p(x) 8, p(2x—1) WME) w8 S OEToSA X-1 DS ?

L. p(3)=0
. pil)=~0

Options:
l. 1

Question Number : 20 Question Id : 8650043983 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



What is the maximum possible length of the rod that can be placed in the box with
rectangular base?

&gﬁ@ad@“‘?da’q_‘} BT £DAD s 28D Eodri A ABR00 Ty ne Sé
TED) Ddod?
I.  The area of the base of the box 1s given as a square units.
&5 & ), BEFPCIW DT OEN A WEGR) CHIPALLTT FO(LC.od
II.  The height of the box 1s given as h units.
€5 228 B0 h CRrALRT BETND.

Options:
l. 1

3
[

Question Id : 8650043984 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (21 to 30)

Problem solving

:amﬁvé 3D

Sequence and Series
eshngaaTrend, Braoen

Directions for questions 21 to 30.

21 Avoc. 30 SO (1B YT VS AFBHEN

In each of the questions 21 to 30 an analogy with two strings of numbers or letters or
both are given following a definite pattern on the left. Identifyving this pattern. vou have
to fill the blank space on the other side analogously from among the four options given.

21 Zvod 30 H6L (o PI) 0 wd PDBDI ATABI B0DBD Doayd Jo
wiTod Jor BodBE D0AD Bocd DO T 0D, & ArHBHVD) B
TS’ TocHPY 110 VD), BDNN TR DA™ 06 JoDE B2, ) BITEO
2PBoSod.

Sub questions

Question Number : 21 Question Id : 8650043985 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

E:VE 1 Q

Options:



o -

Question Number : 22 Question Id : 8650043986 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

GE TV 2B :
Options:

1 WX

. WY
; YW

YX
4.

Question Number : 23 Question Id : 8650043987 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

1993 AD: 1996 AD :: 1997 AD:

Options:
2000 AD

2002 A.D
2004 AD

2008 AD

Question Number : 24 Question Id : 8650043988 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

6:62:8:
Options:
=3

-
!

1.

-3

Lad

6
8

[

Question Number : 25 Question Id : 8650043989 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

6:180:-8:

Options:

| 248



, 448
3 484
, 482

Question Number : 26 Question Id : 8650043990 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

14641 : 11 :: 2401 :
Options:

1.

L2

29

Question Number : 27 Question Id : 8650043991 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

AZCX : EVGT : IRKEP

Options:

i NMOL

MNOL

; MONL

4+ NMPL

Question Number : 28 Question Id : 8650043992 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

2
49

3. AL
1?2 ..23.

Options:

3
37

Question Number : 29 Question Id : 8650043993 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



DRIVEN : EIDRVN :: BEGUM :
Options:
, UEBGM

UEBMG

L2

MGBEU
BGMUE

L

Question Number : 30 Question Id : 8650043994 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

LAKE : PEOI :: MEAT :

Options:
| PIEX

PIEX

QIEX
QEIX

Question Number : 31 Question Id : 8650043995 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In questions 31 to 35 pick the odd thing out
31 &00& 35 H6D fo 1P 0S° POTVITID HBotOE.

Options:

| 2.3,5)

(3.5.7)
(5.7. 1D

L2

, (7.11.13)

Question Number : 32 Question Id : 8650043996 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In questions 31 to 35 pick the odd thing out
31 &00& 35 H6D A D) 0S° POTVIFTID HBotOE.

Options:

. 34

L

[

2

_h

~

-
i



Question Number : 33 Question Id : 8650043997 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In questions 31 to 35 pick the odd thing out
31 Aod 35 HESH (o Q%‘lﬂﬁﬁﬁ 2TV ABotdodt.

Options:
Astounded
e&%"oc‘:‘,c‘i

Flabbergasted
TaTRe

Pleased
b5

Astonished

agbfﬁ:}

Question Number : 34 Question Id : 8650043998 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In questions 31 to 35 pick the odd thing out
31 Aod 35 HOSH (v ‘Q%‘lﬂeﬁﬁ 20T’0AT A Botiod.

Options:

i 30

" 16
399

437

Question Number : 35 Question Id : 8650043999 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In questions 31 to 35 pick the odd thing out
31 Aot 35 HESH (o Q%‘;LE.JPSG 26T’V HBetiod.

Options:



19
21

Question Number : 36 Question Id : 8650044000 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Directions for questions 36 to 45 36 Aooc 45 36 fie @ﬁig}g} Arciden

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the

four given options to complete the sequence without breaking the pattern.

36 A00c 45 HOL (o DS gﬁiﬁﬁm DD DODFRVTD), WET°LISD, DTS, BECDOETD, 2,8 SBEID
RODLAFAY FeehinTe) 0w, DA D) S BDD TN DDYEPO0E HBODH DAFEPHINOD IO
B9A05a) MoLards Horio Seritii® DTFHodod

2 3 3
165,183,21;, ,30
Options:

2
24;

3
24?

L2

5
24?
25

Question Number : 37 Question Id : 8650044001 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Directions for questions 36 to 45 36 Aood 45 Hdda fe g@iug; EAN LA S

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the
four given options to complete the sequence without breaking the pattern.

36 A00c 45 HOL (o DS gﬁiﬁﬁm DD DODFRVTD), WET°LISD, DTS, BECDOETD, 2,8 SBEID
QDAY Jreanae) ow. P8 DI 67 BDD T DDYEPO0E DOV DIFEPADNOR LD
esa08a0 DobhardE sorio Seridior SyFlodiod

1297..626, 257, P B

Options:
117

97

]

82
67

Question Number : 38 Question Id : 8650044002 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Directions for questions 36 to 45 36 Aood 45 Hdda fe gﬁimg} EAN LA S

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the
four given options to complete the sequence without breaking the pattern.

36 A00c 45 HOL (o DS g&;@“m DD DODFRVTD), WET°LISD, DTS, BECDOETD, 2,8 SBEID
QDAY Jrehanae) ow. P8 HF) 67 BDD T DDYEPO0E DOV DIFEPADNOR oD
esa08a0 DobhardE sorio Seridior SyFlodiod

1 1 1 1
5040 '720" 120" —— "6’

1
21
Options:

a1
110

Question Number : 39 Question Id : 8650044003 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Directions for questions 36 to 45 36 Avod 45 S0 te @%‘lt}g} MFCISen

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the
four given options to complete the sequence without breaking the pattern.

36 A0 45 HODL (1o DS HF) S’ DD DoVFRLSD, VATV, DEPENS), WVECVOET, 2.8 LGOI
RODLAFAY FeehinTe) 0w, DA D) S BDD TN DDYEPO0E HBODH DAFEPHINOD IO

esa08a0 DobhardE sorio Seridior SyFlodiod

37 26 17
503726’
Options:
5
17

-2

10
17

12
17

Question Number : 40 Question Id : 8650044004 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Directions for questions 36 to 45 36 Aood 45 Hdda fe gﬁiug} EAN LA S

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the

four given options to complete the sequence without breaking the pattern.

36 Mvod 45 HOL o DS g&;@“m FD\D VOV, VETLISD, DEPLNSD, BECDOETD, 2,8 SBEID

QDAY Jreanae) ow. P8 DI 67 BDD T DDYEPO0E DOV DIFEPADNOR LD
esa08a0 DobhardE sorio Seridior SyFlodiod

-3,:158,°12, 27, 39, , 105
Options:
, 66
5 76
5 86
4. 96

Question Number : 41 Question Id : 8650044005 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Directions for questions 36 to 45 36 Aooc 45 36 fie @ﬁiug} Arciden

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the

four given options to complete the sequence without breaking the pattern.

36 Mvod 45 HOL o DS g&;@“m FD\D VOV, VET LIS, DTS, BECDOEIT, 2.8 SWGID

RODLAFAY FeehinTe) 0w, DA D) S BDD TN DDYEPO0E HBODH DAFEPHINOD IO
esa08a0 DobhardE sorio Seridior SyFlodiod

(1011)2. (0111). (0101). . (0010)

Options:

| (1010),

(1000),

L2

~(0011)s
(0110),

Question Number : 42 Question Id : 8650044006 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
Directions for questions 36 to 45 36 Aooc 45 S0 fie a%.:l,ﬂg“} Arciden
In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the
four given options to complete the sequence without breaking the pattern.
36 Mvod 45 HOL o DS g&;@“m FD\D VOV, VETLISD, DEPLNSD, BECDOETD, 2,8 SBEID

QDAY Jrehanae) ow. P8 HF) 67 BDD T DDYEPO0E DOV DIFEPADNOR oD
esa08a0 DobhardE sorio Seridior SyFlodiod

6. 15,33 71, 2 |

Options:



154
204

L2

; 184
143

Question Number : 43 Question Id : 8650044007 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Directions for questions 36 to 45 36 Avod 45 S0 te g@img; MFCISen

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the
four given options to complete the sequence without breaking the pattern.

36 Avod 45 HOL e DS gﬁie_‘"}'ﬁm FDND VOV, VET LIS, DTS, RGO, 2,8 LG
RODLAFAY FeehinTe) 0w, DA D) S BDD TN DDYEPO0E HBODH DAFEPHINOD IO
esa08a0 DobhardE sorio Seridior SyFlodiod

3. 8. 24, 48, 120,

Options:

| 284

268
, 244
168

Question Number : 44 Question Id : 8650044008 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Directions for questions 36 to 45 36 Avod 45 S0 te g@img; MFCISen

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the
four given options to complete the sequence without breaking the pattern.

36 A0 45 HOD (o DS HF) S’ DD DoPVFRLSD, VAT, DEPENS), WVECVOET, 2.8 LGOI
RODLAFAY FeehinTe) 0w, DA D) S BDD TN DDYEPO0E HBODH DAFEPHINOD IO

esa08a0 DobhardE sorio Seridior SyFlodiod

6, 24. 60, 120, 210,

Options:

| 310

324
, 336
340

Question Number : 45 Question Id : 8650044009 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Directions for questions 36 to 45 36 Aood 45 Hdda fe gﬁimg} EAN LA S

In each of the questions numbered 36 to 45 a sequence of numbers or letters or words or strings of letters that follow
a definite pattern 1s given. Each question has a blank space. This has to be filled by the correct answer from the
four given options to complete the sequence without breaking the pattern.

36 A00c 45 HOL (o DS g&;@“m DD DODFRVTD), WET°LISD, DTS, BECDOETD, 2,8 SBEID
QDAY Jreanae) ow. P8 DI 67 BDD T DDYEPO0E DOV DIFEPADNOR LD
esa08a0 DobhardE sorio Seridior SyFlodiod

IMQ. GKO. EIM. AFEI

Options:

i CHK

CHG

L2

CGH
CGK

Question Id : 8650044010 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 48)



Problem solving
PPy 6D
Data Analysis
G0 P

The children in the age group of five years to twenty five years in a town are
categorized into six groups A, B. C. D, E. | based on the level of their studies. as given
i the following pie-chart. Using this information. answer the questions from 46 to 48.

2 bgm;ﬁnﬁh 5-25 Rodeyde S0P’ D Hewdo T8 i&mvﬁg“wu
eserdor A B.C.D.E. F @3 &t grapeum 585080, HBD & Brbod p Dot

SFDE0D0E. € DATTTT0 TG0 46 o 48 DO (v PTY VL

PaTEESe  Trolod.

Sub questions

Question Number : 46 Question Id : 8650044011 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The percentage of children in group F. among the children of the town is

&5 DWES D DYV, ArDd F &' Do Fdo

Options:
1
s Rt
1. 3
1
g
2.0
1
.ﬁ_
30 ¢

4y

Question Number : 47 Question Id : 8650044012 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



If the group E has 1182 children. then the total number of children in the given age
group in that town is

E (d)eS° 1182 S0od Heew eotd, €3 :Jeﬂ.gmo@" BN ;ﬁésaej SaHRG D Ao DLV
"eaoap:}

Options:

1092

Question Number : 48 Question Id : 8650044013 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If k times the number of children in F is equal to the number of children in B and C put
together. then the value of k 1s

B 2080w C &' 290 Do) S Sy Roa), F &°d Hywea s k 8en wond,
9260 k Dend

Options:

-

T

)

3 _If

Question Id : 8650044014 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (49 to 53)



fromblem solving
R0y JPed
Data Analvsis
Q0¥ )P

The following table shows the admissions of students into four Engineenng colleges
from 2011-12 to 2015-16. Using this information. answer the questions 49 to 53.

& BILD BDNH HBE, 2011-12 2o 2015-16 H6L TrewrD moxD8oh SwvrTrer D
Qg PATAS VoZioBowd DT VA BLNHBI0B. & DATEE0

&0arfocinE D, 49 Hoow 53 Hoth rie ?’gﬁ&mé& PNATFEEHSL TroDoG.

Academic vear

o=y ";0063@‘5{50
Engineerinig 2011-12 | 2012-13 | 2013-14 | 2014-15 | 2015-16
College

moza0oh SovEe)

A 375 400 430 425 430

B 325 500 530 575 530

& 225 275 325 330 375

D 475 525 475 550 623
Sub questions

Question Number : 49 Question Id : 8650044015 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In which college. admissions are increasing vear by vear?

D TR DRIV VodB o WVoDST"AS DEMST HEy00?

Options:

A
L.

_B
3. C
s D

Question Number : 50 Question Id : 8650044016 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Considering the admissions into all the colleges during 2013— 2014, the percentage of
admissions in the college A that year 1s

2013-14 2o GoeS” ) VTS D DDAV DB VS BRVLOD) 3D, &
RodS$ 60" SvF A ') D3I TS0

Options:

=
| 20

25

ks =

30

35

Question Number : 51 Question Id : 8650044017 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

By what percentage. admissions are mcreased in the college B during 2013-14. over the
previous year?
gvewo B &°, 2013-14 R0SSBH0 Do) WoBL) Sotsed 0SS GoSot) HDTDVLD
Jodd THo 0OADD?

Options:

1 30

25

n =

3 20

10

Question Number : 52 Question Id : 8650044018 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The college having the maximum number of admissions in all the years puf together. is

e9)Y Mo e S8 Br ; S Do ) 3] T
Q) DodBGBVL SO BEOIYE, BBBS Von(e” PDIIVO $DAD &

Options:

| A

5 B

D

Question Number : 53 Question Id : 8650044019 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



The college in which the admissions are reduced compare to the previous years on two
occasions. 1s
DRA0EE) (09068 Seho) ’n}n;ﬁ@;jﬁ;ﬁnm‘f E}Eﬁﬁ“ﬁllhaﬁf‘.gjbda, D v &5 HOFHWL

Oodid ‘boﬁﬁﬂ“g&)@ﬁ eﬁgdn 200087
Options:
l. A

B

o]

L
M

Question Id : 8650044020 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (54 to 55)
Problem solving

Ry FED
Data Analysis
Ggrod DT

Direction for questions 54 and 35

In an office with a staff of 30, five persons speak Hindi. English and Telugu. Four
persons speak Hindi and English only. Four persons speak only Telugu. Three only
English and four only Hindi. The number of persons speaking only two languages
namely Hindi. Telugu and English. Telugu 1s the same. Based on this information
answer the questions 54 and 55

30 008 edjen &) w8 Bnhns” LoVEXHEH o, @i WBatL denrd
Ao, Heorbd red dpbain moffiy Arddn Ardrdiod. Haobiy deorb
PG, S0MHE o ATED, JeDM red ArGD AEFCiRN. Pod, Beorh
2000H0 oy, Beur @9 Toth 2RO Arga Arraidi o8 Doay PATHAW.
£ Rarordaw esordore 54 S08ciwn 55 @ﬁiuéa PAFDEHSL Troiod.
Sub questions
Question Number : 54 Question Id : 8650044021 Question Type: MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
How many persons speak only two languages out of the three languages?

ST erwes’, Goc) 2Pe Araa) STErE :}égsw ool ?

Options:
10



14
16

L-2

4 19

Question Number : 55 Question Id : 8650044022 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The percentage of staff members speaking more than one langunage is

258 olS AL D NV Jrerd &&&?Srbe.) TSo.

Options:

1
| 535

1
58;

1

L2

1
615

1
63;

Question Id : 8650044023 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (56 to 60)

Coding and Decoding Problems
Ecoh, cEoh Jntrﬂ)“’n}_sm

Directions for questions 56 to 60
56 svod 60 H08 fe DT 0D Droden

The letters of the English alphabet are arranged around a circle and are coded as follows:

(1) A vowel 15 coded as third vowel from 1t in the clock-wise direction.

(2} A consonant 1s coded as the fifth consonant from it in the clock-wise direction.
The reverse process 1s used for decoding. Using this coding and decoding processes, answer the
questions 56 to 60.

@ofiin WESHFLS" D BETANOM LY HBEN DT 000y, TED & Jod Jodwr FE
aoti::ﬁf:‘,s:m D0 e
1 28 eacionid ordiood) Surdsd esionDe i a3 BE Sobeddo.

2. g Pendn D03 oPd Mod DD TendD SE Sajndd.

cBdoh 2, 62 D50 HAcHA TRcicio LoV, & Floh dubain AFAeh piabedn

&0dirhod) 56 dvoc 60 SO He D) 0% 2arusen oraboc.

Sub questions

Question Number : 56 Question Id : 8650044024 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



The letter that 1s coded as *I" 1s
‘T'me §& r:'}cﬁs?gmdrﬁ e & 53500

Options:

A

5 U
3; G

4.E

Question Number : 57 Question Id : 8650044025 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The code word for ‘MASTER 1s
‘MASTER’ & §& D6

Options:

| SUYZAX
TOZBVY

L2

; SOYZUX
i SOYZAX

Question Number : 58 Question Id : 8650044026 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The code word for ‘PRINCE" 1s
‘PRINCE" & §¢& H6o

Options:
| VXUTIU

WXAJTU

L2

VXATIU

i UXATIJU

Question Number : 59 Question Id : 8650044027 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The code for the letter *X 1s
‘X eogordd §&

Options:
1. B

¢

""l



3 G
4 D

Question Number : 60 Question Id : 8650044028 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The string of letters that 1s coded as *"MUSIC” 1s
MUSIC™ 1 §& Bafjesdd 956500 D683

Options:
| GEMVZ

GEMUZ

L2

- GEMVW

[N ]

4 GEMUW

Question Number : 61 Question Id : 8650044029 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In a certain code language. if *SAND’ is coded as "AIR’. "AIR’ is coded as
‘PLATEAU’. ‘PLATEAU" 1s coded as “WELL’. “WELL" 1s coded as ‘ISLAND’ and
‘ISLAND’ 1s coded as “SKY . then where from water can be drawn in this code
language?

28 /Y §E 28¢5 “SAND” & ‘AIR'ma0 . ‘AIR" D ‘PLATEAU” & .
‘PLATEAU’ D “WELL’ red . “WELL’ D ‘ISLAND &0 &08aiw ‘ISLAND’ D
‘SKY a0 86 83 & §& eriyd” 28 ¢ &0od DO ST KwAD.

Options:

| WELL

, ISLAND

; AIR

4 SKY

Question Number : 62 Question Id : 8650044030 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In a code language. *CLOUD" is called “WHITE’. “WHITE" is called ‘RAIN". ‘RAIN’
1s called *“GREEN". ‘“GREEN is called ‘AIR" and ‘AIR" 1s called ‘BLUE" and ‘BLUE"
1s called “WATER’. Then where will the birds fly in this code language?

w8 §E& er3eS” ‘CLOUD’ D ‘WHITE’ & . ‘WHITE' D ‘RAIN’ . ‘RAIN" D
‘GREEN" 2. ‘GREEN Q "AIR’ . “‘AIR Q ‘BLUE’ & &0dciw ‘BLUE’
‘WATER €9 e90tr. & §& erine’ DN DEOD IF) & AETOW.

Options:



;. AIR
- CLOUD

L2

: BLUE

RAIN

Question Number : 63 Question Id : 8650044031 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In a code language. ‘AIR" 1s called ‘GREEN’. “GREEN" is called ‘BLUE". ‘BLUE’ 1s
called ‘SKY'. ‘SKY" is called “YELLOW’', ‘YELLOW" is called “WATER’ and
“WATER" i1s called ‘PINK’. Then what is the colour of the clear sky in that code
language?

28 §& ey &° ‘AIR’ D ‘GREEN’ 99, ‘GREEN’ D ‘BLUE’ e, ‘BLUE’ D ‘SKY"
., ‘SKY' Q “YELLOW’ . “YELLOW' Q “WATER’ @2 2008cin ‘WATER' Q
PINK 090 0908760, 93¢0 &8 §& erR &° 6,000 655780 BwE), Sord DAE?

Options:
, YELLOW

, BLUE
; PINK

4 SKY

Question Number : 64 Question Id : 8650044032 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In a code language. ‘SKY "’ is called *SEA’. ‘SEA’ is called “WATER". “WATER" is
called *AIR’. *AIR" 1s called *CLOUD" and “CLOUD"’ 1s called ‘RIVER’. Then what do
we drink when thirsty in that code language?

28 §& ey &5° ‘SKY’ D ‘SEA’e9d . ‘SEA’ D “‘WATER e , ‘WATER’ D ‘AIR e ,
‘ATR’ D ‘CLOUD &5 &dasn ‘CLOUD’ D ‘RIVER’ 99 e90tr. &3 §& eriaes’
c:’:ﬂ}:js Sﬁ)ﬁé@;}m S0DAN D TTEAD ?

Options:

, RIVER

AIR

]

WATER
3

. SEA

Question Number : 65 Question Id : 8650044033 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



If ‘nitco sco tingo’ stand for ‘softer than flower’. “tingo rho mst’ stands for ‘sweet
flower fragrance’ and ‘mst sco tmp’ stands for ‘sweet than smile” then ‘fragrance’
stands for

‘nitco sco tingo’ eoé3 ‘softer than flower’. ‘tingo rho mst’ o83 ‘sweet flower
fragrance’ 08030 ‘mst sco tmp’ 9083 ‘sweet than smile’ €9 DI RIDHED

‘fragrance’ es0é3
Options:

i rho

, mst
5 tmp

sCo

Question Number : 66 Question Id : 8650044034 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Problem solving
RDTg s

Date, Time & Arrangement Problems
A4, pavobhe, eadsnbte R[N

If today 1s Sunday. what day of the week will it be after 54 days?

& Bz 967650 ©0ond, 54 Sewrw 36T HB\O T°6085°D D Bz HSed?

Options:
Saturday

DTG0

Friday
20S T 000

Monday
FoTrEa0

Tuesday
bebl.Tottle e tub bl

Question Number : 67 Question Id : 8650044035 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Problem solving
R0 D

Date, Time & Arrangement Problems
A8, dovobo, 9cnbte R

At what angle the hands of clock are inclined when the clock shows 15 minute past 57

(Gairdan 5 dote B8 15 JHAwen TP DEIBOR) )6, Ao A0Sy,
200000 206§ D6yE E'rso

Options:

90°
k

65°

-

1EI
6?5

66%‘3
4,

Question Number : 68 Question Id : 8650044036 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Problem solving
R0y D

Date, Time & Arrangement Problems
B8, Ao, BBDBLL DD

Two clocks began to strike 12 together. One clock strikes its strokes in 33 seconds and
the other in 22 seconds. What is the interval of time between the 6™ stroke of the first
clock and the 10® stroke of the second?

ot Eoirdsnen 28370 12 Hotren § &30 AVGBDEFOD. 208 AEa3TGa0 o°d)
Hotwd) 33 e’ Ecrdhod. FTE 22 e §crdhod. DGE Adairdan
E eg:{: B S (ot)s). Boid § egé 103 fotosd mq% 000 9000 odd?

Options:
1 second
1 1 2EN
2 seconds

2 RS

o]

4 seconds
3 4 Dsoen

3 seconds
3 Vs



Question Number : 69 Question Id : 8650044037 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Problem solving
R0 D

Date, Time & Arrangement Problems
A8, dovobo, 9cnbte R

X mtroduced Y saying “he is the husband of the granddaughter of the father of my
tather”. How 1s Y related to X?
Y HBR0HIA B X QT 977 (. “RBC A5 BocmTd Bog, VL), SA00H00°

W0E), FE X SY & o oo de?

Options:
Uncle
£20808>

Cousin
. 822

Brother-in-law
ETSA088

Brother
4 4 e BT

Question Number : 70 Question Id : 8650044038 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Problem solving

”’mm&né PGS

Date, Time & Arrangement Problems
a8, davobo, e9danbte NSRINION

If the first day of a non-leap year was Friday. then which was the last day of that year?
28 o {5‘1'.;3 $°08)) VDB A0 GRS D0EE B2 $0ST°0AL ond, es
RSB a0 ohwE), b B

Options:
Thursday
TG

Friday
BOST 00

1

Sunday
e3&aT° 000

Saturday
BTG



Question Number : 71 Question Id : 8650044039 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Problem solving
R0 D

Date, Time & Arrangement Problems
A8, dovobo, 9cnbte R

Two trains arrived at a station at 9:30 AM and 10:00 AM with 47 munutes and 22

minutes late respectively. Then the time difference between their scheduled arrivals at
the station 1is

Cocdd Ty SR 47 AaoEs0en SBokn 22 DoHsnen ﬁuﬁémjvﬁ' 28 DD g

03051 9.30 JabHHwew Hdodn 10.00 dotersd B8 0. &3 SO DHL e9a)
n“a“E)rj:{m DBFS DILODIAVVL MGV TO B30

Options:
55 min

55 Ddaren

A8 min

48 Ddaren

L2

30 min

30 DDoTrew

42 min

, 42 DIarew

Question Number : 72 Question Id : 8650044040 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Problem solving
a0 3"‘_’5 TS
Date, Time & Arrangement Problems

a8, Havoio, wdsodLe R

A. B. C. D. E sit around a round table facing the centre. E sits between D and A. C 1s
the immediate right of B. and A sits between E and C. Then the person to the immediate
right of D 1s

A.B.C.D.E 20 28 (1oGR 20 thtir Somrdoang SrdoyT™) 6. D odain A ©
S06 E 86T 0. B S DADotD EDY C 60 HT) . E Hdasw C v
D0G] A S3E0NA DT°) . D D S DADoLD DEDDD BN P ;555
Options:

] A

) B

3.2



4 ) E

Question Number : 73 Question Id : 8650044041 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Problem solving
RDDTg Fesd

Date, Time & Arrangement Problems
A8, Pdvobo, wondte RV

If * represents multiplication. ® represents addition. A represents division and V
represents subtraction. then

TV8A2*5@3=

* esToe) L © Srasa (A 2r(iforRy dasw V BB AR, SF A
TVEBA2*5@3=

Options:

3 -10

. T8
-16

24

Question Number : 74 Question Id : 8650044042 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Problem solving

ro.mavé S

Date, Time & Arrangement Problems
B8, Davodo, edndte DadIE

x@y=2x+3y+4, xOy=xy+3 =2 (2R3)0(384)=

Options:

i 104

377

k-2

342

243

Question Number : 75 Question Id : 8650044043 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Problem solving
R0 D

Date, Time & Arrangement Problems
A8, dovobo, 9cnbte R

7 7 2 7 . . .
Ifxtv=x —3y andxsy=x" +. then the digit in 10’s placeof (4s1) {25 3)1s

Xty =2 -3 28050 x5y =1 +17 ©od, GIP\E (457) 1 (25 3) Bwg), D
g"am&?ﬁﬁﬂ) Road

Options:
l. 2
% 7
3 4
4 1
Mlathematical Ability
Display Number Panel: Yes
Group All Questions: No

Question Number : 76 Question Id : 8650044044 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Ability

esoricied Sjvmgé@

—4

2. F
Ifa+ b and ab #+ 0 then {M] =
aZ—{ab)*

O
aibmmmemﬁ{m} .
aZ—{ab)%
Options:
b

1 )

a
b

L2



Question Number : 77 Question Id : 8650044045 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abiality

espdricied avmgé@

247 759408 = 2% 3Y 5% = xfy+z=
Options:
1 87

73

ke e

48
24

Question Number : 78 Question Id : 8650044046 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Ability

esodricied avmgé@

A and B have savings in the ratio 4:5, They decided to buy a gift sharing its cost in the
ratio 3:4. If A spent % of his savings while B is left with Rs 145 after they purchased
the gift. then the value of the gift (in rupees) is

A.B Ty B ﬁ";ﬁn& QS 4:5 , oW 3:4 33113{395'& ToER DAWE'D wE smRLE
E3erJ8 DgonotHE T . &5 STE §D) BHOTB, A 83 3¢ ) e’ % )

Hodd ©oeBD), B 32 3¢ Tardy Tdw) 6.145 DADowD AID & SRS Dewsd
(G d-atreres’)

Options:
105

1.

140

-

5 160

, 175

Question Number : 79 Question Id : 8650044047 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Ability

esoricied Sjvmgé@

x:2ﬁ+ﬁﬂ%(x+i)=

Options:

) 4



Question Number : 80 Question Id : 8650044048 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality

espdricied avmgé@

(4+\/ﬁ)g+(4—mﬁ=pm =59y =

Options:

L 2V2

7
2

k-2

3. 7

_,
=

Question Number : 81 Question Id : 8650044049 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality

esoricied avmgé@

A and B are two alloys of gold and copper in the ration 7:2 and 7:11 respectively. If
equal quantities of these alloys are melted to form an alloy C then the ratio of gold and
copper 1n C is

A, B a0 20ofT6o, T°AS DEyGD Do a3 &7, e omrdo, T°A Jkaydoen

DEORME 7:2, 7:11. DATD R & Godd dLFA S PO 8RR 8E 3
€570 C g)dbﬁﬁ_g. C ¢5° eormrdo, T°R :JE'J:)?_:_% ooeh 7

Options:

1_6:5

2 9:4

¥
3.1._.7

3 T8

Question Number : 82 Question Id : 8650044050 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Anthmetical Abality

esoricied avmgé@

The value of the digit “a’ in the number 43a4567 such that it 1s divisible by 11 1s

Ro| 4324567 & 11 & erhoserds 3)&:::1‘5:13@._’13 GoC IV 08 a Jewd
Options:
1 8
7
3 0
5

Question Number : 83 Question Id : 8650044051 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abiality

espdricied avmgé@

The number of integers from 200 to 400 which are divisible by 7 1s

200 &Aoo 400 H650 Ao :;ljugcsﬂuﬁ"" 7 B erhotdere Tre) 08
Options:
1 32
o

30

25

Question Number : 84 Question Id : 8650044052 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arnthmetical Abality

enodricied avmgé@

The least square number that is divisible by 3. 4. 5. and 6 is

3,4, 5603 arhotied 53@;‘.}9 ‘K-aoa_:né

Options:
;. 60

. 400



5 900

, 1200

Question Number : 85 Question Id : 8650044053 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality

espdricied avmgé@

Leth and g respectively denote the least common multiple and the greatest common
divisorof and . Ifh: g =20 : 1, h+ g =2520 and a = 480 then b =

a 0803w b © 8 FrA0°d) Medee, ABN FrAu-d] erasaen HARMh g
ed080d. h:g =20 : 1,hi+g =2520, a = 480 eand, Py b =

Options:

600

8§00

L2

900

=
i, 1200

Question Number : 86 Question Id : 8650044054 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality

esoricied avmgé@

The rational number given by 0. 12 is

0.12 & &ohedd €603 Ro8dg

Options:
=
25

-2

Question Number : 87 Question Id : 8650044055 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Anthmetical Ability

esndrichid avmgé@

. . . . . o
If aj. as. a3 and a4 in the increasing order of the elements in the set {?‘E 5 E} then ag—a; =

DS {%%g%} S°D JrUsL BETPH SB00 a1, ay. a3 OO as VONS, WIPYE A4 —a1 =

Options:
2

7
1.

19

56

L2

17
56
15

56

Question Number : 88 Question Id : 8650044056 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality

esoricied avmgé@

e = V4, a, = V5, as; = V7 and a, = /3 then their correct order is

a; = V4, ay = V5,a3 = V7 208050 ay = V3 0008 578 280D S0

Options:
ay = ay = gy '}{1'4,

; =3 = ay = iy

L2

Az =04 = Q1 = ay

" {1'4,}(13}{1’1:3{1'2

Question Number : 89 Question Id : 8650044057 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Anthmetical Abality

esoricied avmgé@

For a rational number r. if we add 3 to its denominator it 1s 5 and 1f we add 4 to 1ts

i,
numerator it 1s E Thenr=

2,8 6Ba Do 1 L, T FT-IS 3 €IHB 0 %?ﬂ“ o) 0T D8 4 £dHS wd %
DBVOH. DN T =

Options:
3

7

4
9

Question Number : 90 Question Id : 8650044058 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arnthmetical Abality

enodricied avmgé@

If the length and breadth of a rectangle are increased by 20% and 25% respectively
then the percentage increase in its area is’

2,8 B BBOCRS” TED, DALYV JOAM 20%, 25% Dodd & JPT°V[oeS
DoorGL T=do

Options:
45

l.

5

50

4. 28

Question Number : 91 Question Id : 8650044059 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Anthmetical Abality

esoricied avmgé@

Omne litre of water i1s evaporated from 6 litre solution containing 5% salt and 95%
water. The percentage of salt in the remaining solution is

5% &3y, 95% Do $DAD 6 Dxg B350 we Dexcd D ©3DB oI’ ded. DoAdD
G505 &y Tdo

Options:

-
!

L.
4

""I

3.0

4. 6

Question Number : 92 Question Id : 8650044060 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Ability

enpricied Sjvmgé@

A sells an article to B for a profit of 20% and B sells the same to C at a profit of 25%.
If C pays Rs 4500 then the price (in rupees) A bought it is
A 208 SN B § 20% ererds, @98 S0 B mﬁ"’::ég C 8 25% ererdd

507 6. &8 SPD C 6 4500 B &) A §3) do(arJabeod’)

Options:
i 1500
3000

P

L

00

250

L]

Question Number : 93 Question Id : 8650044061 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality

esoricied avmgé@

Selling two items each at Rs 240/-, a merchant gets a profit of 20% on one and a loss
of 20% on the other. In this whole transaction the merchant gets
2,5),8),8 6 240/~ S D Totd IRPYV 28 SBNIS 25T 207% o,

ST 207% So STHow. & Audo e.:f“;r“éb:.g SLODD HDNIE.

Options:



4% profit
1 47 eorZe

4% loss
4% éé.;{o

L2

10% profit
: 10% erZo

10% loss
; 10% égc

Question Number : 94 Question Id : 8650044062 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality
esogricded avmgé@

Inn a joint business A. B and C invested capitals in the ratio 5 : 6 : 8 and the periods of
investments are in the ratio 8 : 5 : 15. If the share in the profit for A 1s Rs 15000/-
more than that of B then the share of the profit for C (in lakhs of rupees) 1s

&;ﬁ.}éd :Péi)“dc:-@ﬂ A, B, C &r et i@ 5:6:8, 570 Héweche 50 i@
8:5:15. erz5o&” B o3 A & . 15000 &S 53 P& &rgos’ C Tt (0go
dorJrabers’)

Options:

. 0.18

1.8

L2

18.0
180

Question Number : 95 Question Id : 8650044063 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality
esogricded avmgé@

A and B started a business with investments of Rs 24000/- and Rs 30000/-
respectively. After 6 months A withdraws Rs 4000/-. In the year end profit of Rs 1.04

lakhs the share of A (in lakhs of rupees) 1s

SERMT . 24000, 6. 30000 © BeHLS A, B a0 TS 6o Fdodotrdd. 6
Qow AT A 9D ::.-ee,_}umd Ao . 4000 BR0E T°) G, VoIB\Tod erzio 6. 1.04

VLS A Trer (v drdraDe”)



Options:

0.33
1.

0.43

-

0.44
3

i 0.48

Question Number : 96 Question Id : 8650044064 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality

enoricded avmgé@

A tank has three pipes P. Q and R. The pipes P and Q fill it independently in 4 hours
and 5 hours respectively while R empties it in 2 hours. If P. Q and R are respectively
opened at 1 AM. 2 AM and 3 AM 1n that order. then the time when the tank will be

empty 1s
28 S8 201D Dopew P, QR &y an. BS° P,Q e DADAm SB 4 fowres”, 5
ffotres® HERMT JodALAT R ) 2 Hotiwe” a9 Sabrw. & Dopen P, QR
LA DOV &GoDo 1 (oL, 2 Hotiw, 3 Hobiw) &5 EM08S" DS & T8 279
aﬁa&ﬁheﬁ oo
Options:
4 PM

Fododho 4 (otren

5 PM

Jododho 5 Sotren

L2

6 PM

Fradodio 6 Hokewn

7 PM

; Jraddodho 7 ol

Question Number : 97 Question Id : 8650044065 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Arnthmetical Ability

esodricded avmgé@

Two pipes P and Q can fill a tank in 10 hours and 12 hours respectively. If they are
opened alternately for one hour each. starting with P. the time required to fill the tank 1s
208 S8 Totd DozHew HERM 10 flotrew, 12 (083065° DODALD) . DD 208 D

S0T DG (oS DLOHAT,, & ﬁg@b PS 0o, &5 & eg QotieTAS D8 Dode

Options:
11 hours

11rotye

10 hours 50 minutes
10 tfotder 50 D ren

L2

10 hours 40 minutes
10 oo 40 DAnIren

10 hours 30 minutes
10 tfotoe) 30 Daren

Question Number : 98 Question Id : 8650044066 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abiality
enodi(icded avmgé@

A train travels at a speed of 40 kmph through urban areas. 50 kmph in suburban areas
and 75 kmph i rural areas. If the trip of tramn has half-an-hour travel in urban areas.

3 % hours through suburban areas and 3 hours in rural areas then the average speed (in
kmph) of the train during the entire trip is
208 Bew (o) 40 8.2 Do HHG Fromreds’, (ot 50 3.0 Do HAG IT°W
Fromres” , oty 75 8.0 HfoS Trabes Froores” HABTEI0 B0, &5 Tew 6kl
D3 PG FroTred’, 3 %ﬁo&}ﬂi}f@ DEGIT 0O Fromres® ABASL 3 (Golrew mrades
Fromres” HOAITEBY , Do HOLTLI0 S Te VOB Defo (Hotrth 8.2 &5°)
Options:

52
s

a
h
n



Question Number : 99 Question Id : 8650044067 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality

esoricied avmgé@

A car driver driving at 68 kmph locates a bus 40 meters ahead of him and after 10
seconds finds that the bus i1s 60 meters behind. The speed (11 kmph) of the bus is

(ot 68 8.2 Driod’ DD w8 TE TIHW 28 WRVY SRS 40 DS
20CRY 8D, 10 DSAVY S6T°S &5 ey 60 b.)é.)g DRS DA W (ot . &3
270y Dfo (Hotrsd 8.2 &)

Options:

| 50

, 40

3.
. 28

Question Number : 100 Question Id : 8650044068 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Arnthmetical Abality

enodricied avmgé@

If 3 men or 4 women can reap a field in 43 days then the number of days required for 7
men and 5 women to reap the field 1s

3 2006 DA To@ 4G Yoo 28 Terd) 43 Tard” ) (0AS, ©d T 7
008 PRV, 5 2008 Pew o) (1dAD Bwe Doy

Options:

12
L.

2 11

5 10

4 9

Question Number : 101 Question Id : 8650044069 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Anthmetical Abality

esoricied avmgé@

P. Q and R can complete a work independently in 15 hours. 12 hours and 10 hours
respectively. P and R started the work and after 5 howrs Q joined them and completed
the work. The time (in minutes) Q worked 1s

P. Q, R & 28 DA D @BodorT HERM 15 doren, 12 osew, 10 Bobwes® JPQ

BoDrwd. P. R eo &5 DD F6ododdd 5 (otrw 6T 708 Q30 50 70
BIE. Q DA B2 oo (Aares’)
Options:

32
L.

, 40
45
60

Question Number : 102 Question Id : 8650044070 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Ability

espdicied Sjvmgé@

If the circumference of a circle 1s mcreased by 50% then the percentage mcrease in its area is
208 38 DBB 507% 2odS & DTV DAMDEY F'do
Options:

, 100

125
; 150

225
4 T

Question Number : 103 Question 1d : 8650044071 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Anthmetical Abality

esoricied avmgé@

In the figure given below both the semicircles have radius 7 units each and AB 1s a

"
tangent to these semicircles. The area (in sq. units) of the portion % i the figure is
S0 WD\ DFo &' Tod w8 e 28,6 7 ardy a“éﬁ“go S0, AB 3

G0t )T UKD ‘FJDCSQGHJ. &1 Do’ % & DBoLIED 2L 2FTV(o

A

Options:

| 98(4 — )

49(4 — )

L2

2454 -m)

14.79(4 — x)

Question Number : 104 Question Id ;: 8650044072 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality
esodicde avmgé@

The maximum possible length (in cms) of a rod that can be kept in the rectangular box
with dimensions 5 cm X 4 cm X 3 cm 1s

5 20.20 X 4 Do.2 X 3 V0.0 DOATML) 2E AIEPAICISELY DO BAE (L
¢ BB TED) (Ro.ad &°)

Options:

5v2
10
1042

20

|

-

Question Number : 105 Question Id : 8650044073 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Anthmetical Abality

esoricied avmgé@

The radius of a sphere and the radius of the base of a right circular cylinder are equal
to r. If the ratio of the volume of the sphere to that of the cylinder 1s 8 : 3 then the
height of the cylinder 1s

28 'Y :.}“5.5“%::, 28 BTG WY BrT (TS r & VAo, &8 Hivo, ArDov

20N DOITETL IS 8 1 3 wasd ¥ VLY .

Options:

r

1.

r

L2

= | 2

=

Question Number : 106 Question Id : 8650044074 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Ability

enpricied Sjvmgé@

The radius of a roller is 35 cm and its length of 3 meters. The area (in sq.mts) it covers
; i 22.
in 25 rounds 1s (Take n = ?J.

28 Bl TG0 35 V0., T TED 3 DD, 86 25 o SOHBE Zrdop

5SS DT 0 (5.20.00 &° )( 1= % ™ S20808)

Options:

1.

33
165
198

231

Question Number : 107 Question Id : 8650044075 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Anthmetical Abality

esoricied avmgé@

The perimeter of a thombus 1s 40 cms and one of its diagonal 1s 16 cms long. The
length (in ems) of the other diagonal 1s

28 DIBBOEN 250 WEDE VS 40 0.2, & 28 Do TEY) 16 Vo.ab. &
208 Do Tty (Ro. &°)

Options:

15

2 13

; 12

4 11

Question Number : 108 Question Id : 8650044076 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Ability

espdricied Sjvmgé@

The number of revolutions made by a wheel of 42 cms diameter in covering a distance
. ; 22
of 1.32 kms is (Take n = ?).

42 0.2 TR0 S 28 WEo 1.32 8.0 Grod) D¥ErdS B Foomsww Koy (= %.

Options:

30
L.

5 300

3 400

" 1000

Question Number : 109 Question Id : 8650044077 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Ability

esoSricied avmgé@

For integers a and b: and for mnteger m>0 we write a = b (mod m) if m divides a-b. if
82017 = 1 (mod 13) and 0 < n < 13 thenn =

PToST a,b U, YrTreSo m>0 & (a-b) m& arhi ODND a =b (modm) &
TR0,

827 = n (mod 13) @HS> 0 = n < 13 esond 51 =



Options:

4

3
h

=

Question Number : 110 Question Id : 8650044078 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Anthmetical Abality

esoricied avmgé@

(1100001}2 = [:I)m. =X =
Options:

2 125
1 12128

Question Number : 111 Question Id : 8650044079 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DHdah, &g DSaD &mgaa

The contradiction. among the following. 1s

& Sod Tedes” Ed)cﬁéo

Options:
rAq

pA~q

L2

pVvV~p
.Pﬁ“‘P

Question Number : 112 Question Id : 8650044080 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

HAah, 2 DBa3 #mgﬁa

The inverse of the proposition (p A ~q) — r is

(pA~g) = 1rs IS0
Options:

1 (pA~g) - ~r

(~pVq)—=r~r

]

3 (~pAq)—=~r

; (pV~q) = =1

Question Number : 113 Question Id : 8650044081 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
DAL, FFINECD 0P

=)
" 1 1
Hi;= {x E R: B ;} form=123, ..ocathenl Nl =
TR e éf:{rem-—if«;rz-i}wcpaw:@mf Nidig =
ot Pl R n 3 : o e e A 7 13
Options:
I
{
R
5 s
4. T20

Question Number : 114 Question Id : 8650044082 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

HAah, 2 DBa3 #mgﬁa

Let L be the set of all straight lines in a plane and R = {({{,I;) € L X L|l;
is perpendicularto l;}. Then on the L the relation R is

208 RABWo 5° DOEFEPL D& L ed R ={(l;,[5) EL X L|1; $wotdo ] }
080l P L 3 Ddotiotio R

Options:

Symmetric

| 3"%}.‘1&&

reflexive and transitive
DT°D0R0, NoSao

2,
symmetric and transitive

JDo , PosAe
3. =

an equivalence relation

e:ﬁJEJTS MotloGo
4

Question Number : 115 Question Id : 8650044083 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Abality

Hdah, el #mgaa

Let N be the set of all natural numbers and f: N — N be defined by f(n) = r. where r
1s the remainder when » is divided by 17 foranyn € N. Then {n € N: f(n) = 3} =

RT°2R00aT DS N oD, DB nENS f(n) =r,(reod8 nd 17 & erHodr S
$230) T DEDoDD DIvadoe. f:N — N ol ednSod. @@ {n € N: f(n) = 3} =

Options:
, 13}
e+ 3k=0123 .53
’ 3k +17:k=0,123, ........}
. 17k 4+3:k=041312, 43, .o}

Question Number : 116 Question Id : 8650044084 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

HAah, 2 DBa3 #mgﬁa

If the lines ax+2y+1=0,bx+3y+1=0andcx+ 4y + 1 = 0 are concurrent
then @, b and ¢ are in

NOFo»ew ax+2y+1=0,bx+3y+1=0,cx +4y + 1 = 0 e es005 0003
RN a,b,C, O PHold

Options:
an arithmetic progression

| 8 oo 3ce5°

a geometric progression

W8 (e 365

2,
a harmonic progression

28 o) S 3Ee5°
3

an arithmetic — geometric series
& e90g-or L5

Question Number : 117 Question Id : 8650044085 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DHdah, &g DSaD bmgaa

If the line through the points (7. -2) and (4. -5) cuts the coordinate axes at A and B
then the length AB 1s

Docoden (7,-2) , (4,-5) & o 'cd HEWEL b Ty ABw 56 Dol
DN\ AB i e )

Options:

l. 9
9+/2

; 18

, 182

L2

Question Number : 118 Question Id : 8650044086 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

HAah, 2 DBa3 #mgﬁa

o A o 5 tan 250°+tan 150° .
‘ = 1—tan 250°tan 150°

Options:
1 &

| e

Question Number : 119 Question Id : 8650044087 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DHdah, &g DSaD bmgaa

If 270° < 8 < 360° and cot @ = —v 3 thencos @ =

270° < 6 < 360° , cot = —V3 008 &P cosh =

Options:

V3

f
1, 2

1
V3

L2

~ |G

1
V3

Question Number : 120 Question Id : 8650044088 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAoL, Ejnaan bmgéa

(1+ cotf —cosec8)(1 +tanf +sech) =

Options:

0
L.



Question Number : 121 Question Id : 8650044089 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Abality

Hdah, el #mgaa

The angle of elevation of the top of a tower from a point P on the ground is 45° and
moving s feet towards the tower the angle of elevation is found to be 60°. The height
(in feet) of the tower is

200D0e" 2,8 Jraotl P Aol 56 perto & A Eeso 45° cod JBakn D6
DY SERLBD) DoddY) 5§ VEXDY GIPGo Mol LD Pero 60 ° E'taoes” &) ew

(0Bt . £:56 e, ded (e &°)

Options:

.\J’ES
.(\.E—'l)s
(\.@-1-1)5

3

— s
f3—1
4 v

Question Number : 122 Question Id : 8650044090 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Abality

Hdah, 2y Ba3 bmgﬁa

2 and

The highest common factor of the polynomials p(x) = x* — 2ax® — 3a’x
g(x) = x° — 2ax* — Ba®x3is
esudcony plx) = x* — 2ax® — 3a%x%, qlx) =x° — 2ax* —8a’xr* © glere]

5";&3"&‘35 s dEToto
Options:

x2(x + a)
1.

x%(x — 3a)



Question Number : 123 Question 1d : 8650044091 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAoL, Ejnaan bmgéa

If x2 + x — 2 is a factor of x* + 3x> — 8x% 4 p(x), where p(x) is a linear polynomial
then p(x) =

p(x) D& D TVHO war  x* +3x7 —8x% +p(x),8 x + x — 2 s*Grroto
€900 Dy P(x) =

Options:

’ —12x + 16
12x — 16
x+16

. x— 16

Question Number : 124 Question Id : 8650044092 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Abality

Hdah, el #mgaa

If p(x) = 2x* 4+ 5x + 1 and q(x) = x — 4 then a factor of g(p(x)) is
p(x) = 2x2 +5x + 1, g(x) = x — 4 e2008 q(p(x)) AB0E); S"CEToSo

Options:
x==3

2x+1

N x+ 2

2x—1
4

Question Number : 125 Question Id : 8650044093 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

HAah, 2 DBa3 #mgﬁa

Ifx+1and x — 1 are factors of x> + 2x2 + ax + b thena + b =

P +2x% +ax +bh S x+1,x — 1 e0 S°EroS e ©and )y ath =

Options:
| "2
) -3
-
£
3
4

Question Number : 126 Question Id : 8650044094 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

HAoD, 2FgDBa1 n-‘_h:nga@

In 10 years. A will be twice as old as B was 10 years ago. If A 1s 9 years older than B
then the present age (in years) of B 1s

10 ﬁﬂﬂ@hﬂ“ﬂ@ﬁ , A H030R 10 Dods o Scho B Hohiw & 580 9 HB0eB. A
Sof B 9 RodSd T chg;ﬁoj)m&dol}a B 2R0¢ Habaw
Options:

;19

Question Number : 127 Question Id : 8650044095 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

HAoD, 2FgDBa1 n-‘_h:nga@

The number of solutions of the system of linear equations x + y+z = 3,2x 4+ 2y —
z=3andx+y—z=11is

Denrs LS SIE
x+y+z=32x+2y—z=3,x+y—z=18 0 IEd0 Doy

Options:



0
_—
Finite
g DB ‘53::&.1‘“55-:

Infinitely many
©0BS Vosr(So

Question Number : 128 Question Id : 8650044096 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
DAL, PG Jra0g

=)
: ; 1 39
If ay,a,,as, ... ... ... ..., ayg are 19 arithmetic means bem'eenz and — % then a; =
1 39
L e S C I =0dain e '8 mcﬁéﬁu 19 es02d ;‘.uc:éﬁ:mum::é RN a7 =
Options:
i
s #*
13
3.
15
3 4‘
17
4,

Question Number : 129 Question Id : 8650044097 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DHdah, &g DSaD bmgaa

If the sum of the first six terms of a geometric progression is 9 times the sum of the
first three terms then the common ratio 7>1 1s
208 (082 BES DG e DErw Ao , T NG BT DY TIS 9 T

A0S PN &= F D] B r>1 Dewd

Options:
2

-

L]



h

Question Number : 130 Question Id : 8650044098 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Abality

Hdah, el #mgaa

: 2z — Win k n -
(A+x+x°) = FpZgapx”™ = Yy glag =
Options:

1
{3 1)

1 n
S — 1

L2

1 .
@41
%(32]‘1 w 1}

Question Number : 131 Question Id : 8650044099 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Abality

Ddab, 2r(DB00 ;:‘:vmgaa

If the sum of the binomial coefficients in the expansion of (a + b)" is 512 then the
greatest binomial coetficient 1s

(@a+b)" DYGES™D DG S 0G0 512 oS TS5 ADE AN eso

Options:

| 252

5 2HD
126
120

Question Number : 132 Question Id : 8650044100 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

HAah, 2 DBa3 #mgﬁa

If @, b and ¢ are such that ak? + bk + ¢ = 0 for some k and if the determinant of the

a b ak + b
matrix b c bk + ¢ | 1s zero then a, b, ¢ are in
ak +b bk+c 0
a, b, cen ak’® + bk + ¢ # 0 AR &oll k VDHAT ATAE
a b ak + b
b c bk + ¢ Dg“ds-:: ROT™) VOB PN 3,b,C e Dold 28
ak+b bk+c 0
Options:
an arithmetic progression
208 90 §Ae5°

1.

a harmonic progression
28 o) 8 3ce5°

an arithmetic — geometric series
s oS- Bies”

a geometric progression
, 8 e e’

Question Number : 133 Question Id : 8650044101 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Abality
DAL, EREINECD Fra0g

&
1 2 @ =1
The rank of thematrix| 3 4 1 2 |is
=k 3 2 8
1 2 0 -1
a8 3 4 1 2 |owg) §S
—2 3 2 5
Options:
1

L.
2

-



L
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Question Number : 134 Question Id : 8650044102 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
DAoL, Ejnaan &mgﬁ@

vE—/2a+yVx—2a
VeZ-4aZ

limy .5,

Options:
i

i

Lo
- [ )
9||H g [

&

<
]
=)

Question Number : 135 Question Id : 8650044103 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability
D20, DAL &mgﬁa

E.ZI’_E—I
liII'i R ———
x=0 5in x

Options:

-1

5, 6

Question Number : 136 Question 1d : 8650044104 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

HAah, 2 DBa3 #mgﬁa

In AABC the bisector of the angle A meets BC in D and DE 1s parallel to BA meeting

- AE
AC in E. then o

AABC ¢&°2 S0 A “ca;ﬁjcﬁsa)odééa} BC D D;ﬁg Sewdr,BAS Rdroddorreot DE

ZHao AC D E 36 200G oot @y = =

Options:
AEB
AC

AC
AB

BC
AB

4B
BC

Question Number : 137 Question Id : 8650044105 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Abality

Hdah, el #mgaa

The sum of the interior angles of a regular octagon. in radians. is

208 S0 NZRGD odtd L Ao, BADHDS’

Options:

21
1.

4n

L2

67

31
4,

Question Number : 138 Question Id : 8650044106 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

HAah, 2 DBa3 #mgﬁa

Let AC and BD be two diameters of a circle with centre at O and having circumference
9 units. If LOBA = 70° then the length (in units) of the minor arc BC is

O 3¢ Sogdn O, totnSod 9 i) 28 5578 AC, BD e Botd J7jren.
LOBA = 70° eso0a3 arRerdo BC e )

Options:

Question Number : 139 Question Id : 8650044107 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DAL, 2PfED &mgéa

If (a. b) 1s a point such that its distance to (4 . 0) 1s twice its distance to the origin then
3(a® + b?) =

Do) (a,b) 938 (4,0) $ & Grdo, Aredetusd) Adow) T ArodsS a&go:;}_j
wuﬁ:}gue.‘_poej XN 3(a’ + b)) =
Options:

8 —4a
1.

, 16—8a
O —8a
3

O —6a
4

Question Number : 140 Question Id : 8650044108 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Algebraic and Geometrical Ability

HAah, 2 DBa3 #mgﬁa

The length of the median of AABC through B. if the vertices A, B and C are
respectivelyat (4.2).(6.5)and (1 . 4) 1s
4,2),(06.,5 ,(.Hend0 A.B,C %g“urﬁa ArdY AABCS B oo o

mqﬁsﬁej o

Options:

V65

%Jﬁﬁ

1

V65
3

1

L JEE
g 4

Question Number : 141 Question Id : 8650044109 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability

Roarge Ejvmgé@

a ‘ . a a a o . ‘ :
If @ > 1 and the median of the observations gy and 31 8 then the arithmetic
mean of the observation 1s

a a
a > 1 s, HdFod S
2908 ;.‘13{::5;5.1::

S 5 © E|So 8 ©and ey & DBFVIY

Options:

8

0

]

; 10
10.96
4.

Question Number : 142 Question Id : 8650044110 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Statistical Ability

RoargE Ejvmgé@

The mean deviation about the median of the observation 25. 34. 31. 23.
20 and 32

HBwSLD 25, 34, 31.23.22.26.25.22.20, 32 © mcﬁéﬁ@o cﬁ;ﬁg‘é mqm&wm

Lo}
[
k-2
k-2
fof%
I3
L
k-3
k-2

Options:

2

1.

L2

Question Number : 143 Question Id : 8650044111 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability

Rosrgs .%Jv.mg{j@

The mode of the distribution whose mean and median are respectively 24.5 and 24.375 is

28 AT RNoD8) arc;:ﬁmo, :uc,ﬂérﬁe:’so SRV 24.5 ,24.375 22008 ¢ 0¥ Se

Options:

L2

24

24.125

24.250

24.375

Question Number : 144 Question Id : 8650044112 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability
R0aTgE Fr00 e

=)
If o 1s the standard deviation of x;(i = 1,2, ... .......,n) then the variance of
3= L2 cn i) B8
x(i=12,.......,0) oD SHISON0 0 9008 PN
5x;+3 (=12 ........,n) 0 ISD

Options:

1.

V5



Sa

~

; 5062+ 9

2
2 250

Question Number : 145 Question Id : 8650044113 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability
Rosrgs ﬁvmg{]@

The observations x;(i = 1,2, ............,15) of an experiment it is given 11=51 =

170 and Y22, x? = 2830. Later it is noticed that one x; is entered as 20 instead of the

correct value 30. The correct value of their variance 1s

28 DA R 6S°D HORODE ol =12 e A T =170, 302560 =
2830 0 X @ . ST 28 x; § VO Dend 30 $ 2xcien 20 T SRV e
(0otrdy. T8 DS DBADD Dewd

Options:

| 18

7, B33

g 188.66

" 177.33

Question Number : 146 Question Id : 8650044114 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability
Roargs 3"51"3?5@

In the calculation of rank correlation coefficient (r) of 8 observations it 1s found that
Yd? = 40.5. where d; are the deviations. Then the value of r is

8 DIV £ Diradored et () (e Bobdess® Ydi = 40.5
SRS T D. BE) 6 d; DBOTVR DFDRWB. 9PN I Ded

Options:
27
56

29
26

L2



31
56

33
56

Question Number : 147 Question 1d : 8650044115 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability

Roarge ﬁvmgée:a

If A and B are two events of a random experiment such that the probability that at least
one of A and B occur 1s 0.6 and the probability that both of them occur 1s 0.2 then

p(4) +p(B) =
28 QIrGDNS DAIFAS D Toh DL A B v T78e” V0 28,8 267
Doz 0.6 MR, A,B Botd D000 D€ sPoo o5 208 QoS 0.2 PR ol

06 p(4) +p(B) =
Options:
| 0.8

, 0.9

3 1.2

g Atk

Question Number : 148 Question Id : 8650044116 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability

Roargs 3"51"3?5@

A number n in chosen at random from the set {1.2.3..........50}. The probability that
v/n is an irrational number is

D {1.2.3.........50} Do) 28 0DY N A o‘.iJ“c;i;,é}as::rF Do WD, X)L
VN 28 e9gseioD 20083] ©0R[ R0

Options:

7
50
13
2 50
43
50



37
4. =

Question Number : 149 Question Id : 8650044117 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability
Roargs 3ﬁ-"§§

Two unbiased six-faced dice are thrown. The probability the sum on them is a prime. is

S0t AXES B Hwwre FDEVR0 SBorw. T MG VoL VYo 28 DL
:aoaaé 9_50335 ﬁﬂﬁuaéﬁ

Options:
19
36
17
36

15
36

13
36

Question Number : 150 Question Id : 8650044118 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Statistical Ability

Roarge .f)vmgé@

Let F be the set of all functions from the set A of 4 elements to the set B of 6 elements.
The probability that f selected at random from F is an injection 1s

4 Joresre RS A Aol 6 Aureste RS B § de HAaires) 98D Dabd F
080G & F Mol aird;Dd Sor™ dods B pdoaio f ed¢so 980§ oIS
Options:

5

L 36

L2

e PN e I M [T S



Display Number Panel: Yes
Group All Questions: No

Question Number : 151 Question Id : 8650044119 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Insolvent
Options:

; incapable of being solved
unable to pay one’s debt
incapable of being dissolved

disobedient

Question Number : 152 Question 1d : 8650044120 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Terrestrial
Options:

, worldly

earthly

L2

; heavenly

galactic
4

Question Number : 153 Question Id : 8650044121 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Emulate
Options:

1 deny

neglect

imitate

Led

reprimand



Question Number : 154 Question Id : 8650044122 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Progeny

Options:
| genie

commandant
; descendant

engineer
4

Question Number : 155 Question Id : 8650044123 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
Choose the correct meaning of the word given:

Unrelenting

Options:
1 extremely determined

extremely weak

extremely flexible

extremely sympathetic

Question Number : 156 Question Id : 8650044124 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
Choose the correct meaning of the word given:

Obstinate
Options:

obscure
intlexible

flexible

obese



Question Number : 157 Question Id : 8650044125 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Fill the Blank choosing the correct word
One who anticipates the worst at all instances is described as a/an

Options:

1 optimist

pessimist

L2

anarchist

, democrat

Question Number : 158 Question Id : 8650044126 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Fill the Blank choosing the correct word

As the actions of the officer were uncivil. he had to be

Options:
1 praised

. recommended

4 promoted

reprimanded
4.

Question Number : 159 Question Id : 8650044127 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Fill the Blank choosing the correct word

The pilot was injured: he died on the spot.

Options:
1 tatefully

tancitully
fatally

lightly
4

Question Number : 160 Question Id : 8650044128 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Fill the Blank choosing the correct word

Several news channels provided extensive of the commonwealth games.

Options:
network

holocaust

; broadcast

coveragze

Question Number : 161 Question Id ;: 8650044129 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer
A joystick
Options:

helps in storing information

helps in complicated calculations

serves as a substitute for hardware

helps easy movement on the screen
4

Question Number : 162 Question Id : 8650044130 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

Software that allows entrv of mumeric data in rows and columns to facilitate its

analysis with mathematical formulas is called a

Options:
spread sheet

MS word

| Worksheet

(RN ]

Numeric data sheet



Question Number : 163 Question Id : 8650044131 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

A command used to change the attributes of a file 1s called

Options:

i Backup

Tree

L2

Restore

Attrib

I

Question Number : 164 Question Id : 8650044132 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer
Touch screen 1s
Options:

| an input device

an output device
an input and output device

a storage device

Question Number : 165 Question Id : 8650044133 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

A connection that allows one to move easily between two computer documents on the

internet 1s called

Options:

| Hyperlink

DNS

o]

URL

4 HTML

Question Number : 166 Question Id : 8650044134 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Choose the correct answer

A batch of articles sold or bought at one time is known as a

Options:

, job lot

job centre

L2

job share

jobbing

Question Number : 167 Question Id : 8650044135 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
Choose the correct answer

The abbreviation R.O.I stands for

Options:
Real operation income

Return on mvestment

Range of investment

Roll on investment

Question Number : 168 Question Id : 8650044136 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer
Recruiting personnel by offering more pay than competitor is called

Options:

, witch hunting
head hunting
5 competitive recruitment

poaching
4

Question Number : 169 Question Id : 8650044137 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

In business. normative economics may be described as



Options:
objective and fact based

subjective and opinion based

evidence based

economic policy of a company
4

Question Number : 170 Question Id : 8650044138 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

Articles that are purchased frequently for immediate use and with a mimimum effort

are called

Options:

Speciality goods
Convenient goods

; Retailing goods

Fast moving goods

Question Number : 171 Question Id : 8650044139 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer
“Get out”. he told the boy
(change the voice)

Options:

The boy was asked by him to get out.

He was asked by the boy to get out.

L2

He was begged to get out.

The boy asked to get out.
4

Question Number : 172 Question Id : 8650044140 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Choose the correct answer

A: Their arguments do not rest on sound premises.

B: From the beginning. their plan was ill-conceived.
B

Options:

refutes the arrangement of A
does not totally refute the argument of A

seconds the opinion of A

has reservations about A’s opinion

Question Number : 173 Question 1d : 8650044141 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

A: Excuse me. Can I have a copy of oxford Dictionary?
B: I'm afraid we ran out of stock. just yesterday.

In this conversation

Options:

B is getting ready to give the dictionary

B expresses lhus inability to give the dictionary

B speaks arrogantly about the dictionary

B is hesitating to give the dictionary

Question Number : 174 Question Id : 8650044142 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

The officers were hand in glove with the corrupt publications. The underlined phrase

Ieais
Options:

not bothered

totally indifferent

A



; colluded

, disagreed

Question Number : 175 Question Id : 8650044143 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

I walked a long distance foot.

Options:

01l
l.

by

-

L2

n

g at

Question Number : 176 Question Id : 8650044144 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

It has been raining five hours.

Options:
for

since

L2

. until

by

Question Number : 177 Question 1d : 8650044145 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

Change the following into passive voice:

May the best among you win the prize:

Options:
May the prize be won among the best of you.

May the prize be won by the best among you.

L2

Let the price be won by the best.



The best of you shall win the prize.
4

Question Number : 178 Question Id : 8650044146 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

Doesn’t he his tather!

Options:

take in

take off

| take after

take back

(%]

Question Number : 179 Question Id : 8650044147 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

The repair work will last a week.

Options:
sice

011

L2

n
for

Question Number : 180 Question Id : 8650044148 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

She 1s married a man younger than her.

Options:
| with

1o

L2

for

at

Question Number : 181 Question Id : 8650044149 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Choose the correct answer

His sons could not his expectations.

Options:
live upon to

live up to
4 live off to

A live by to

Question Number : 182 Question Id : 8650044150 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

He their demands.

Options:
acceded by

acceded up

L2

acceded on

, acceded to

Question Number : 183 Question Id : 8650044151 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

The lease of this commercial property has

Options:

| T through

mu1 out

turned out

| held out

I

Question Number : 184 Question Id : 8650044152 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

She finds 1t hard to with the other students of the class.

Options:
call on



call by

L2

. catch up

4 cut to

Question Number : 185 Question Id : 8650044153 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct answer

The strike a change of government.

Options:
, brought down

brought up

-2

brought about

) brought at

Question Id : 8650044154 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (186 to 190)



Read the followimng passage and answer question

Gandhij1 was of a ripe age. but he was still full of vitality and his capacity for
work was prodigious. The end came suddenly by the hand of an assassin. India was
shocked and the world gnieved. and to those of us who were more mtimately
connected with him the shock and sorrow was hard to bear. And vet perhaps, 1t was a
fitting close to a magnificent career and 1n his death. as 1n his hife, he served the cause
to which he had devoted himself None of us would have liked to see him gradually
fade in body and mind with increasing years. And so he died. as he had lived. a bright
star of hope and achievement. the Father of the Nation which had been shaped and

trained by him for half a century.

To those who had the high privilege of being associated with him 1 some of
his innumerable activities. he will ever remain the embodiment of youthful energy.
We shall not think of him as an old man. but rather as one who represented with the
vitality of spring the birth of a new India. To a vounger generation who did not come
in personal contact with him, he 15 a tradition and numerous stories are woven round

his name and activities. He was great in his life. he 1s greater since he passed away.

Sub questions

Question Number : 186 Question Id : 8650044155 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

‘Prodigious’ in the opening line means

Options:
| extremely hardworking

extremely dedicated

extremely great

L

2 unbelievable

Question Number : 187 Question Id : 8650044156 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The author was Gandha.

Options:
, @ stranger to

a friend to

L2

hostile to



close to
4.

Question Number : 188 Question Id : 8650044157 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

According to the author. association with Gandhi as a

Options:
| high privilege

tradition m itself

-2

magnificent opportunity

youthful experience

Question Number : 189 Question Id : 8650044158 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The author Gandhi’s death

Options:
celebrates

condemmns

L2

presents the positive side of

presents the negative side of

Question Number : 190 Question Id : 8650044159 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which description of Gandhi does not figure in the passage?

Options:
An advocate of non-violence

An embodiment of youthful energy
A tradition

The father of the Nation

Question Id : 8650044160 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)



Read the passage below and choose the correct answer

Communication 1s essentially a social affair. Man has evolved a host of different
systems of communication. which render his social life possible—social lafe not in the
sense of living in packs for hunting or for making war. but in a sense unknown to
animals. Most promunent among all these systems of communication 1s of course,
human speech and language. Human language i1s not to be equated with the sign
system of animals; he can with his remarkable faculties of speech give utterance to
almost any thought. Speech and wrting are by no means our only system of
communication. Social intercourse 1s greatly strengthened by habits of gesture — little
movements of the hand and face. Also, we have economic systems for trafficking not
i i1deas but in material goods and services: the tokens of communication are coins,
bonds. letters of credit and so on. But life in the modem world 15 coming to depend
more and more upon ‘technical’ means of communication. telephone and telegraph.
radio and printing. Without such technical aids the modern city —state could not exist

one week. for it 15 only by means of them that trade and business can proceed.
Sub questions

Question Number : 191 Question Id : 8650044161 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

What renders social life possible for man?

Options:
different systems of communication

living in packs
making war

living away from animals
4

Question Number : 192 Question Id : 8650044162 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The author believes that speech and writing are

Options:
our only means of communication

not our only means of communication

to be equated with animal mode of communication

tokens of communication



Question Number : 193 Question Id : 8650044163 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which 15 not a token of communication?

Options:

| bonds
letters of credit

CcOoins

L

; telephones

Question Number : 194 Question Id : 8650044164 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Social intercourse 1s augmented by

Options:
1 Wwars

gestures

hunting
s1gns

Question Number : 195 Question Id : 8650044165 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The modern world banks upon kind of communication.

Options:

1 physical
religious

_ technical

Lid

eCconomic

=

Question Id : 8650044166 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)



Read the following passage and answer question

Now. if there are groups of people who have a claim to other people’s labour
and self-denial. and if there are other people’s labour and self-denial. and if there are
other people whose labour and self demial liable to be claimed by the first groups.
then there certainly are “classes . and classes of the oldest and most vicious type. For
a man who can command another man’s labour and self-denial for the support of his
own existence i1s a privileged person of the highest species conceirvable on earth.
Princes and pampers meet on this plane, and no other men are on it. On the other
hand. a man whose labour and self-denial mav be diverted from his maintenance to
that of some other man 1s not a freeman. and approaches more or less toward the
position of a slave. Therefore we shall find that. in all the notions which we are to
discuss. this elementary contradiction. that there are classes and that there are not
classes, will produce repeated confusion and absurdity. We shall find that, in our
efforts to eliminate the old vices of class government. we are impeded and defeated
bv new products of the worst possible distinction — the right to claim and the duty to
give one man s effort for another man’s satisfaction. We shall find that effort to

realize equality necessitates a sacrifice of liberty.

It 1s very popular to pose as a “friend of humanity”, or a “friend of the
working classes”. Anything which has a charntable sound generally passes without
investigation, because 1t 1s disagreeable to assail it. Whatever may be one’s private
sentiments_ the fear of appeanng cold and hard-hearted causes these conventional

theories of social duty and these assumptions of social fact to pass unchallenged.

Sub questions

Question Number : 196 Question Id : 8650044167 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which word in the opening line indicates that the passage is taken from the middle of

a text?
Options:
| farst
. there
NOW
4 other

Question Number : 197 Question Id : 8650044168 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Who are more like slaves?
Options:

1 all princes

pampers who don’t work for others

those whose labour maintains others

those who are not aware of the class theory

Question Number : 198 Question Id : 8650044169 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

‘Pass without investigation’ means

Options:
pass unchallenged

pass as unconventional

L2

pass as uncharitable
3

, Passas hard-hearted

Question Number : 199 Question Id : 8650044170 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

‘assail’ means

Options:
| commend

attack
hail

. harass

Question Number : 200 Question Id : 8650044171 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

What 1s the main effect of the fear of appearing cold and hard-hearted?

Options:
| questioning social duty

mvestigating social assumptions

L2

challenging conventional theories



, ot challenging conventional theories
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